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Correct Marks: 2 WrongMarks: 0



Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635096139, 1
64635096140, 2

64535096141, 3
645350396142, 4

Question Number : 1 Question Id : 64635024494 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535096139, 1
64535036140, 2
64835096141, =2
64535096142, 4

Question Number : 2 Question Id : 64635024495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

64535096142, 1
E4E35096144. 2
E4535096145. 3
B453509614E6. 4



Question Number : 2 Question Id : 64635024495 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S FH DU B TN A FEE & swm aon @@ aftem woAtts Sn g faganedl & it aftom
gfifsaa foa sid &, df s Fafafaa 3 & 217 e & an d qaifts swaa @1 5 auF w27

(1) e awa 2 (2) ok g9 2
3) T digam 2 (@) e caEzleE 2
Options:

64535096143, 1
645350396144, 2
64535096145, 3
E4E3509614E. 4

Question Number : 3 Question Id : 64635024496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

64535096147, 1
64535096148, 2
E4E35096149. 3
E4E35096150. 4

Question Number : 3 Question Id : 64635024496 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096147, 1
6453503961458, 2
645350965149, 3
E4E35096150. 4

Question Number : 4 Question Id : 64635024497 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

64635096151, 1
64535096152, 2
64535036153 2
645350365154, 4

Question Number : 4 Question Id : 64635024497 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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CAE2ZE09E151.
64635096152,

E4E35096153.
54535096154,
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Question Number : 5 Question Id : 64635024498 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

64535096155, 1
645350396156, 2
E4E350368157. 3
E4E35096158. 4

Question Number : 5 Question |d : 64635024498 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535096155, 1
64535036156, 2
648350396157, 2
4535095158 4

Question Number : 6 Question Id : 64635024499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

64535096155, 1
64535096160, 2
645350396161, 3
E4535096162. 4

Question Number : 6 Question Id : 64635024499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096155, 1
645350396160, 2
64535096161, 3
EAEZ5096162. 4

Question Number : 7 Question Id : 64635024500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

645350396163, 1
64535096164, 2
E4E35096165. 3
EAE3509616E6. 4

Question Number : 7 Question Id : 64635024500 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35096163. 1
64535096164, 2
645350396165, 3
E453509616E. 4

Question Number : 8 Question Id : 64635024501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535096167, 1
EAE3509616E. 2
E4E35096169. 3
B4E35096170. 4

Question Number : 8 Question Id : 64635024501 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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EAE35096167. 1
64535096168, 2
645350961645, 3
64535096170, 4

Question Number : 9 Question Id : 64635024502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

64635096171, 1
64535096172 2
64535036173, 2
64535036174, 4

Question Number : 9 Question Id : 64635024502 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535096171, 1
64535096172 2
645350396173, 3
E4E35096174. 4

Question Number : 10 Question Id : 64635024503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

64535096175, 1
645350396176, 2
64535096177, 3
EAE35096175. 4

Question Number : 10 Question Id : 64635024503 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535096175 1
64535096176, 2
64535036177, o
64535036178, 4

Sub-Section Number: 2
Sub-Section 1d: 6463501206
Question Shuffling Allowed : Yes

Question Id : 64635024504 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635024505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E35096175. 1
EAE35096180. 2
E4E35096181. 3
64535096182, 4

Question Number : 12 Question Id : 64635024506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

645350396183, 1
E4E35096184. 2
E4E350396185. 3
E4E35096186. 4

Question Number : 13 Question Id : 64635024507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

64535096187, 1
64535036188, 2
64535036189 =
645350365190, 4

Question Number : 14 Question Id : 64635024508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E35096191. 1
E4E350961392. 2
645350961383, 3
645350961394, 4

Question Number : 15 Question Id : 64635024509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

64535096195, 1
4835096196, 2
64535096197, 5
64535096198, 4

Question Id : 64635024504 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (11 to 15)
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Sub questions

Question Number : 11 Question Id : 64635024505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096179,
64535096180,
4835096181,
45350968182,
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Question Number : 12 Question Id : 64635024506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096183, 1
48350396134, 2
4535096185 2
645350361586, 4

Question Number : 13 Question Id : 64635024507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096187, 1
64535036188, 2
64535036189 =
645350365190, 4

Question Number : 14 Question Id : 64635024508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

[l eaad = TEeH il AEvARdrEA $ qrEgHigE® qid e o | S
1 = (2) ugd
@ @)

Options:

E4E35096191. 1
E4E350961392. 2
645350961383, 3
645350961394, 4

Question Number : 15 Question Id : 64635024509 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096195, 1
64535096196, 2
64535096197, 5
64535036198, 4

Sub-Section Number: 3
Sub-Section Id: 6463501207
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635024510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

64535096199, 1
E4E35096200. 2
E4E35096201. 3
BAE35096202. 4

Question Number : 16 Question Id : 64635024510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535096199, 1
E4E35096200. 2
4535096201, 2
4535026202, 4

Question Number : 17 Question Id : 64635024511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
435036203, 1

E4E35096204. 2
EAE350396205. 3
EAE35096206. 4

Question Number : 17 Question Id : 64635024511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
EAEZE096202. 1

EAE350396204. 2
E4E35096205. 3
BAE35096206. 4



Question Number : 18 Question Id : 64635024512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
64635096207 1
435096208, 2
E4EZE096209. 2
4235096210, 4

Question Number : 18 Question Id : 64635024512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096207, 1
E4E350396208. 2
64535096209, 5
64535096210 4

Question Number : 19 Question Id : 64635024513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
4535096211, 1

EAEZ5096212. 2
E4E35096213. 3
BAE35096214. 4

Question Number : 19 Question Id : 64635024513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35096211. 1
BAE35096212. 2
B4E535096213. 3
64535096214, 4

Question Number : 20 Question Id : 64635024514 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535096215, 1
64535096216, 2
E4E35096217. 3
EAEZ509621E. 4



Question Number : 20 Question Id : 64635024514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535096215, 1
EAE3503E21E. 2
EAE35036217. 3
B4E350962158. 4

Question Number : 21 Question Id : 64635024515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

B4535096215. 1
E4535096220. 2
64535096221, 3
EABZS09E8222. 4

Question Number : 21 Question Id : 64635024515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afg RED #1 gz wmt | 6720 foman 5@, d@t GREEN &t fora wahn geag foran smom ?

(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

64535096219, 1
EAEZ5096220. 2
BAE35096221. 3
BAEZS09E6222. 4



Question Number : 22 Question Id : 64635024516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

EAE35096223. 1
BAE35096224. 2
64535096225, 3
EAE3509622E. 4

Question Number : 22 Question Id : 64635024516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR 0.75x =002y &, & 2= & aF :

y+x
73 75
1 — o o=
i 75 ) T7
73 730
3 — 7, 1 =
©) T7 @ 1D
Options:
64535096223, 1
64535036224, 2
4835096225 2
E4E3509E226. 4

Question Number : 23 Question Id : 64635024517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

E4535096227. 1
EAB3S09E22E. 2
EAE35096229. 3



EAE35096230. 4

Question Number : 23 Question Id : 64635024517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

E4535096227. 1
E4E35096228. 2
EAEZ5096229. 3
EAE35096230. 4

Question Number : 24 Question Id : 64635024518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

64535096231, 1
E4E35096232. 2
EAE3509E6233. 3
EAE35096234. 4

Question Number : 24 Question Id : 64635024518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

E4B35096231. 1

E4EZE036232. 2

EAB25036233. 3

64535036234 4

Question Number : 25 Question Id : 64635024519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

64535096235, 1
EAE3509E6236. 2
EAE35036237. 3
EAE35096238. 4

Question Number : 25 Question Id : 64635024519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535096235, 1
64535036236, 2
64535036237, 2
48350396238 4

Question Number : 26 Question Id : 64635024520 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

No Musicians are Japenese
All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



EAE35096239. 1
64535096240, 2
64535096241, 3
64535096242, 4

Question Number : 26 Question Id : 64635024520 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535096239, 1
E4E35096240. 2
4535096241, 2
4535026242, 4

Question Number : 27 Question Id : 64635024521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

64535096243, 1
E4E35096244. 2
64535096245, 5
4535096246, 4



Question Number : 27 Question Id : 64635024521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
E4E35096243 1

EdEZo096244. 2
E4E35096245. 3
BAE3509624E. 4

Question Number : 28 Question Id : 64635024522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E35096247. 1
64535096248, 2
645350396249, 3
64535096250, 4

Question Number : 28 Question Id : 64635024522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ™

@ =
(3) ferdia
CV

Options:

4835096247, 1
E4E3509E5248. 2
64535026249, o
64535096250, 4

Question Number : 29 Question Id : 64635024523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35096251. 1
EAE35096252. 2
B4E5350396253. 3
64535096254, 4

Question Number : 29 Question Id : 64635024523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i
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oe fea o g 421 | 2
T,
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(1) A4 (2) wuafey
(3)  FHA (4) =g

Options:
4235096251, 1

EAE35096252. 2
B4E5350396253. 3
E4535096254. 4

Question Number : 30 Question Id : 64635024524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

64535096255, 1
EAE3509E625E6. 2
EAE350396257Y. 3
EAE35096258. 4

Question Number : 30 Question Id : 64635024524 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

64535096255, 1
64535096256, 2
64535096257, 3
EAEZ509625E. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501208
Question Shuffling Allowed : Yes

Question Id : 64635024525 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635024526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

E4E35096259. 1
BAE35096260. 2



EAE35096261. 3
BAEZS09E262. 4

Question Number : 32 Question Id : 64635024527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

EAE350962E63. 1
64535096264, 2
64535096265, 3
E4E53509626E. 4

Question Number : 33 Question Id : 64635024528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

BAE35096267. 1
64535096268, 2
E4535096269. 3
EAEZ5096270. 4

Question Number : 34 Question Id : 64635024529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

64535096271, 1
EAE35096272. 2
EAEZS096273. 3
EAE35096274. 4

Question Number : 35 Question Id : 64635024530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

4835096275, 1
E4E3509E276. 2
4535036277, o
4535096278, 4

Question Id : 64635024525 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635024526 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535096259, 1
64535036260, 2
64535036261, =
E4E3503E2E62. 4

Question Number : 32 Question Id : 64635024527 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535096263, 1
E4E3509E5264. 2
64535036265, 5
4535096266, 4

Question Number : 33 Question Id : 64635024528 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535096267, 1
4835036268, 2
4535096269 2
4535026270, 4

Question Number : 34 Question Id : 64635024529 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535096271, 1
64535036272, 2
E4E3509E62732. 2
E4E3509E6274. 4

Question Number : 35 Question Id : 64635024530 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

4535096275, 1
64535036276, 2
64535036277, 2
E4E35096278. 4

Sub-Section Number: 5
Sub-Section 1d: 6463501209
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635024531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635096279, 1

EAE35096280. 2
EAE350396281. 3



EAEZS096282. 4

Question Number : 36 Question Id : 64635024531 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
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(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
EAEZE098279.

EAEZS096280,
EAE35096281.
BAEZS09EE282,

[ N

Question Number : 37 Question Id : 64635024532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



EAE35096283. 1
EAE35096284. 2
B4E535096285. 3
64535096286, 4

Question Number : 37 Question Id : 64635024532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s EEz (TB) #49i) fFras qam 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
E4AEZE09E283. 1

EAE35036284. 2
EAE35096285. 3
BAE35096286. 4

Question Number : 38 Question Id : 64635024533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35096287. 1
BAE35096288. 2
B4E35096289. 3
645350396230, 4

Question Number : 38 Question Id : 64635024533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096287, 1
4835096288, 2
4535096289 2
64535026290, 4

Question Number : 39 Question Id : 64635024534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

645350962391, 1
E4E35096232. 2
EAEZ50962393. 3
EAE35096294. 4

Question Number : 39 Question Id : 64635024534 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

4535096291, 1
64535096292, 2
64535036293 =
64535036294, 4

Question Number : 40 Question Id : 64635024535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E35096255. 1
EAE350962396. 2
BAE35096297. 3



EAE350962398. 4

Question Number : 40 Question Id : 64635024535 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535096295, 1
64535036296, 2
64535036297, 2
48350396298, 4

Question Number : 41 Question Id : 64635024536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

B4E350962595. 1
64535036200, 2
645350396301, 3
E4E35096302. 4

Question Number : 41 Question Id : 64635024536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

4535096299, 1
645350362300 2
64535036301, =
64535036302, 4

Question Number : 42 Question Id : 64635024537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

4535096303 1
64535026204, 2
64535036305, =
64535036306, 4

Question Number : 42 Question Id : 64635024537 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535096203, 1
48350363204, 2
4535096205 2
64535036206, 4

Question Number : 43 Question Id : 64635024538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

E4E35096207. 1
64535096208, 2
645350396309, 3
64535096310, 4

Question Number : 43 Question Id : 64635024538 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

4535096207, 1
4535096308, 2
64535036209, =
645350362310 4

Question Number : 44 Question Id : 64635024539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E35096211. 1
EAE35096312. 2
E4E35096213. 3
64535096214, 4

Question Number : 44 Question Id : 64635024539 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64635096211, 1
64535036312, 2
645350363213 2
4835096214 4

Question Number : 45 Question Id : 64635024540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

645350963215, 1
483503963216, 2
64535096217, 5
64535036218, 4

Question Number : 45 Question Id : 64635024540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

645350963215, 1
483503963216, 2
64535096217, 5
64535036218, 4

Question Number : 46 Question Id : 64635024541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

64535096319, 1
EAEZ5096320. 2
E4E350962321. 3
BAE35096322. 4



Question Number : 46 Question Id : 64635024541 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
452509623159 1

EAEZ5096320. 2
E4E350962321. 3
BAE35096322. 4

Question Number : 47 Question Id : 64635024542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

64535096322, 1
EAEZ5096324. 2
E4E35096325. 3
BAE35096326. 4

Question Number : 47 Question Id : 64635024542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

B4E35096323. 1
645350396324, 2
64535096325, 3
EABE3S03E32E6. 4

Question Number : 48 Question Id : 64635024543 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
646350963271
646350963205, 2

64535096329, 3
645350396330, 4

Question Number : 48 Question Id : 64635024543 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafaa @ & T foem s 6t § swis e famm & fou far g mran?
(1)  TIEFH SATE
2)  wefeEm s
(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
4R35 096327.

EAE3S09E632E.
EAE35096329.
EAE35096230.

[ N

Question Number : 49 Question Id : 64635024544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

64535096231, 1
64535036332, 2
4835096323232 2
4535096224 4



Question Number : 49 Question Id : 64635024544 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2

(1) O FE T ATt ufaasiv A% das s
(@) T, TSI W FE AEHE B dEacdigs THEH
(3)  forcn, wEdNNE e qiel AeaTE 1 dEadigs SHeH
(4)  TEFG AT T A v B dgdedige JHeH

Options:

4635096251, 1
64535096332, 2
64535036333 2
64535036334, 4

Question Number : 50 Question Id : 64635024545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E350396335. 1
EAE350396336. 2
B4E350962337. 3
64535096238, 4

Question Number : 50 Question Id : 64635024545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  wrefae SEIEH] 6 ~gHad 3T

(2)  WrHaH SEIEA] F AT T F o 3w
@)  wrhfae GEEHl =R I Sl w3 s i difei % kg 3reed 7
(4) A9 vl gEeAl w1 v f o difedl % fag adam s

Options:

64535096335, 1
4835096336 2
E4E3509E227. 2
64535036228, 4

PART 11 Indian Culture

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

646350496
2

Online
Mandatory
92

92

200

Yes

No

1
6463501210
Yes

Question Number : 51 Question Id : 64635024546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The 1dea that culture must be studied in terms of its own values 1s called

1. ethnocentricism
2. cultural relativism
3.  cultural anthropology

4. cultural lag

Options:



E4E350962339. 1
64535096240, 2
64535096241, 3
645350396342, 4

Question Number : 51 Question Id : 64635024546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

39 AR 1 & Seopfa @1 e 39 i & gl & o # o o iRy, wed §
1. el iged
2. Hiwpiie AUEETS
3. Wiepiae e
4. WiEpices gadr

Options:

4535096230, 1
645350962340 2
64535036341, =
64535036342 4

Question Number : 52 Question Id : 64635024547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The process by which important changes take place within a culture as a result of
contact with another culture 1s called

| transmmssion
X enculturation
3. acculturation

4.  adaptation
Options:
E4B35096343 1
E4E25036344, 2
E4E25036345 5
64535036346 4

Question Number : 52 Question Id : 64635024547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



98 Ufeban 1 e &, fordes SRy Godt GEpfa ¥ Frh & URUMH-Tw 0 U6 S5l &
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1. TREm

2. HSpide
3. ORI iAUE
4,  IgHE

Options:

4635096243, 1
64535096344, 2
64535036345 =
64535036346, 4

Question Number : 53 Question Id : 64635024548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following terms is NOT correctly matched?

1.  New archaeology . A trend in archaeology which challenged the
traditional cultural perspectives in 1960s

2. Processualism - Itadvocated a problem-oriented approach

3.  Post-processualism - It questioned the possibility of objective
knowledge about the past

4.  Ethno-archaeology  : It disputes the view of filling silences and gaps
in history by drawing on the practices of living
commumnities

Options:

64535096347, 1
64535036348, 2
E4E350963249. 2
64535096250, 4

Question Number : 53 Question Id : 64635024548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. &9 RACEIN . RIaoraeE # U Taf o aw 1960

TR Hiepiae YRRl @1 g UeH St
2. UipareeaER . SO UGt I ST gHE A
3. UY-NHOEEdEE 59 A9 & IS I S SHEE IR Ty IS

4, FoNid-RId@iadE 0 98 a9 Sgerdl S gys & YR o) gfag™ |
Tuit ud fXfed &1 4R & =R &1 widare & §

Options:

4535096247, 1
64535096348, 2
64535036349, =
64535036350, 4

Question Number : 54 Question Id : 64635024549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List—II :

List—I List-II
(a) Indica of Kiesias (1) 399-414 CE
(b) Fa Hien (11) 4 century BCE
(¢) Yijing (iiiy 7" century CE
(dy Al-Birum (iv) 11" century CE

Choose the correct option from those given below :
L. (a)-u); (b)—); (c)-ui); (d)-1v)
2. (a)-u); (b-1); (©-1); (d)-v)
3. (a)v): (b)) (e)—ii); (d)—1i)
4. (a)1v): (b)(id); (e)—(1); (D)1l
casas098351 1

645350396352, 2
64535096352, 3



EAE350962354. 4

Question Number : 54 Question Id : 64635024549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 1 gEl-11 & gHferd Sifon :
at-1 a1

(a) FYTg =1 3M<HT (i) 399-414 %

(b) R (i) 4di=wadis. g

(c) fafsm (i) 7d TaRcl 3.

(d) oS-35 Gv) 113 =il &.
feu Tt fawen o ¥ 95! TR &1 997 B ;

L. (a)-(); (b)H); (e)ui); (d)-v)
2. (a)-(ui); (b)}-i1); (c)—(1); (d)-(v)
3. (a)-(v); (b)—(1); (c)—(m); (d)—(11)
4. (a)-(1v); (b)—(ui); (e)—1); (d)—(i1)

Options:

£4835096351. 1

64635096352, 2

E4E35039E6353. 3
EAE350962354. 4

Question Number : 55 Question Id : 64635024550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Isampur, a centre of stone tool manufacture, 1s situated in
1. Uttar Pradesh
2. Bengal
3.  Karnataka

4. Andhra Pradesh



Options:

64535096355, 1
4835096356 2
4535096357, 2
64535026358, 4

Question Number : 55 Question Id : 64635024550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THIR, TRR & 3R &1 FAfvr-3g, fog ua A 87
1. TWRWE™

3. HCH
4. ST

Options:

4835096355, 1
4535096356, 2
64535026357, o
64535096358, 4

Question Number : 56 Question Id : 64635024551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements 1s correct?

(a) Rajtarangini does not always distinguish between fact and legend.

(b) The Aranyakas interpret sacrificial rituals in symbolic and philosophical way.
(¢) The broad period of Vedanga literature 1s C 600-200 BCE

(d) According to post-modernism, a fext can not be a dynamic entity capable of
producing many meanings simultaneously.

Select the correct answer from the code given below :
1. (b)and(d) only

2. (a),(b)(e)(d

3. (b)and(c)only

4. (a), (b)and (c) only
Options:
64635096359, 1
64635096360, 2
64635096361, 3
G4635096362. 4

Question Number : 56 Question Id : 64635024551 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) TORRION & Teq T auT gyl H g el fbar mar |

(b) 3RvTS § Sty g SEFl 3 vdie e we aife R 3 s ) 1 )
(c) dgGi IIed &1 IHFE H1d 600 $-200 3. 7. 2|

(d) TR-INYFHaER & AR B T U § 9 3@ oY veH &= | 9ad g1 af a8
TS TS a1 Tl e

4 fiu MU e ® ¥ T SR g —
1. &ad(b) R (d)

2. (a), (b),(c), (d)
3. ad (b) 3R ()
4. &gd (a), (b) 3R (¢)

Options:

64535096359, 1
64535036360, 2
4535096261, 2
64535036262, 4

Question Number : 57 Question Id : 64635024552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List=II :

List-I List—II
(Archaeologists) (Discoveries)
(a) P.Rajandran (1) Found homo sapiens on the bank of the
Mulla Mutha nver
(by H. D. Sankalia (11) Discovered the first rock paintings in
India
(¢) A.C.L. Carlleyle (i) Found a fossilized skull in Odai

(Tarml Nadu) datable to 166000 BP

(d) V.S. Wakankar (iv) Discovered the Bhumbetka rock art site

Choose the correct option from those given below :
1. (@) (b)-Gv); (e)-(id); (D—1)
2. (ay(u); (b)-@D); (©)1); (d)—Gv)
3. (a)-@); (b)-D); (0)-v); (D))
4. (@)-v); (b)-(ii); (e)~(1); (d)ii)

Options:

4535096363, 1
64535036264, 2
64535036365, o
64535036366, 4

Question Number : 57 Question Id : 64635024552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



a1 1 g1 3 gaferd Sifvm

; gﬁ% ) 111 (wifer)

(a) OIS (i) e gaT gl R Uig "= i foar
(b) ©=. St Sepiieran (i) HRdH uyA Ad 7 St G B
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L (@), (b)-Gv); (e)-(i); (D)D)
2. (a)ui); (b)-(); (e){i); (D—(iv)
3. (&) (b)-(m); (¢)v); (d)-(w)
4. (a)-v); (b)-(); ()-); (d)—(1m)

Options:

64535096362, 1

64535096364, 2

E45350396365. 3
EAE35096366. 4

Question Number : 58 Question Id : 64635024553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following sites animal burials were found?

1.  Gufkral
2. Kamspur
3.  Qasim Bagh

4, Burzahom

Options:
435096367, 1
E4E350963568. 2



EAE350396369. 3
BAE350962370. 4

Question Number : 58 Question Id : 64635024553 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fofafed 4 9 fog e ® oy seme ud T 47

. o
2. HHER
3. HIEHEA

4.  geiigH

Options:

4835096367, 1
E4E3509E326E. 2
64535036369, o
4535036370, 4

Question Number : 59 Question Id : 64635024554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following places is the famous sculpture of the literate woman writing
1s found?

1. Khajuraho
2. Chidambaram
3.  Lalitapur

4.  Aihole

Options:

64535096371, 1
64535036372 2
E4E3509E373. 2
64535036274, 4

Question Number : 59 Question Id : 64635024554 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535096371, 1
64535036372, 2
64535096373, o
64535036374, 4

Question Number : 60 Question Id : 64635024555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following statements are correct?

(a) Punch-marked coins are the earliest coins found in India.

(b} The coins bearing the name and portrait of 1ssuing ruler were first issued by the
Guptas.

(¢) The Kushanas 1ssued large quantity of gold coins.

(d) The Indo-Greek coinage became the model for the subsequent rulers .

Select the correct answer from the code given below

p—

(a), (b), (¢)and (d)

b3

(a), (¢) and (d) only
3. (b)and (c)only

4. (b, (¢)and (d) only
Options:
64535096375, 1
64535036376, 2
E4E3S09E377. 2



EAE3509637E. 4

Question Number : 60 Question Id : 64635024555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fafefed # 9 oF-9 sy TE 7
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(c) PV T 3 HRI HEN A 9 & Ryaeh SR fbu 4

(d) HRG-Hie G Wadl I8! & o e 55 |

== feg T e # ¥ wet IR g -
L (), (), () 3R (d)
2. &ad (a), () 3R (d)
3. Fad(b) 3R (¢)
4. A (b), () M (d)

Options:

4535096275,
4535096376,
64535096377,
64535096378,

[ N I

Question Number : 61 Question Id : 64635024556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following pairs of temple and place is NOT correctly matched?

Name of Temple Place
1. Avantiswamin Temple : Jammu
2.  Lingaraja Temple : Bhubaneshwar
3.  Dashavatara Temple : Deogarh
4.  Bnhadishvara Temple : Tamavur

Options:

64535096379, 1
E4E3S096320. 2
4535096281, 2
4535096382, 4

Question Number : 61 Question Id : 64635024556 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FofafEa 8 ¥ oF-91 fex gy ™= &1 g 9et gafd a8 82

HiSR 1 ATH T
1. SEwran HieR : TR,
2. oI iR : YR
3. oXEAR AR : EEUI
4. Y EHHRRT : G

Options:

64535096379, 1
645350363380, 2
E4E350963281. 2
645350362582, 4

Question Number : 62 Question Id : 64635024557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Though there are passages in Rig Veda which appear to refer to
riding, the horse normally drew a chariot.

Reason (R) :  References to chanot are so numerous that it is possible to
reconstruct it in considerable detail.

In the context of the above two statements, which of the following is correct?
1. Both(A)and (R) are true, and (R) 1s the correct explanation of (A)
2. Both (A)and (R) are true but (R) 1s not the correct explanation of (A)
3. (A}is true but (R) 1s false

4. (A)is false but (R) 1s true

Options:

64535096383, 1
645350363384, 2
E4E350396385. 2
45350962586 4

Question Number : 62 Question Id : 64635024557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4635096283, 1
64535026384, 2
64535036385, o
645350363586, 4

Question Number : 63 Question Id : 64635024558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct?
(a) Bana criticised the practice of Sati.

(b) By the eleventh century CE, Sati became fairly widespread among the higher
castes (except the extreme south).

(¢) Kalhana appreciates those women who refused to perform Sati.

(dy There is aninstance of the burning of the widow of an Indian captain in Iran in
316 BC.

Select the correct answer from the codes given below :

. (a), (b), (c)and (d)
2. (b)and (d) only
3. (a), (b)and (d) only

4. (b), (¢) and (d) only

Options:

64535096387, 1
4835096388, 2
4535096289 2
64535036290, 4

Question Number : 63 Question Id : 64635024558 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) SO G T B ST B R

(b) TOREdl 91 d@ Tt 7T I SIad (e GIaM0r &1 Ble®y) ST TS Faa- Ul
(c) Dy &l P TRIE Y €, FgiH Fell € | SRR o e

(d) A6 3 U H TP HRAWY S B [3ear o ST o7 1 29 Had

e fiu T e § 9 9 Sw g
L (a), (), () 3R(d)
2. &gd(b) 3R (d)
3. a4 (a), (b) MR (D
4. &I (D), () R ()

Options:

64535096387, 1
64535036388, 2
483503963289 2
4535095290 4

Question Number : 64 Question Id : 64635024559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Given below are two statements, one labelled as Asserfion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Ashoka’s Dhamma is marked by the spirnit of accommodation.

Reason (R) . Ashoka strongly denounces the overpraising of one’s sect and
disparaging the others.

In the context of the above two statements, which of the following is correct?
1. Both (A)and (R) are true but (R) is not the correct explanation of (A)

2. Both (A) and (R) are true and (R 1s the correct explanation of (A)
3. (A)is true but (R) 1s false

4.  (A)is false but (R) is true

Options:

64535096291, 1
64535036392, 2
4535096292 2
64535096294, 4

Question Number : 64 Question Id : 64635024559 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635098391, 1
54635096392, 2
54635096393, 3
64635096394, 4

Question Number : 65 Question Id : 64635024560 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-1 with List-II :

List-I List—II
(Script) (Feature)
(a) Kharoshthi (1)  Parent of almost all the indigenous scripts
of South Asia
(b) Brahmm (i1) Evolved out of Gupta Brahmi
(¢) Siddhamatrika (111)  One of the three southern scripts
(d) Grantha (1v) Its core area lay in North-West

Choose the correct option from those given below :

=

(a)~(1); (b)~{11); (c)(ui); (d)-1v)

!*-J

(a)—(1i1); (b)—(1); ()(11); (D—(v)
3. (@-Qv); (0)-0); (o)), (d)-u)

4. (@), (BD): (©—iv); (d)ii)
Options:
4535096295, 1
64535096396, 2
64535036397, 2
64535036398, 4

Question Number : 65 Question Id : 64635024560 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i1 &1 Gl-11 § gHfed oo ;

-1 -1

(ferfo (e,
(a) @H () <o R # 3t woh o w1 vee
(b) sl i) =R S Reka
(c) Fagumge (i) A= cleol taidd e
(@ Ty (v) ST Iai® &F ITR-um E 8
feu U fdeey H ¥ 98t 3R &1 99 Sifer :
1. (a)y-(); (byi1); (c)-{iii); (d)—(iv)
2. (a)y(ii); (b)y-1); (c)H1i); (d)—(iv)
3. (a)-v); (b)—(1); (c)—(11); (d)—{ii)
4. (a)y-(it); (b)—1); (¢)-(v); (d)-(iii)
Options:
L4E3E095395 1
CAEZEQEEZ9E. 2
CACZE09E3297. 2
CAEZE095398. 4

Question Number

: 66 Question Id : 64635024561 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following 1s NOT correct?

I

Options:
E4E350963599
E4E35096400

The Indore plates of the Vakataka king Pravarasena indicate the prosperous
condition of traders

There 1s no mention of the activities of guilds in the Narada and Brihaspati
Amarakosha mentions many types of precious and semi-precious stones

The Mandasaur inscription refers fo the mugration and activities of
prosperous guild of silk weavers

.1
L2



E4E35096401. 3
BAE35036402. 4

Question Number : 66 Question Id : 64635024561 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4835096399, 1
4535095400, 2
64535026401, 5
64535096402, 4

Question Number : 67 Question Id : 64635024562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Al-Biruni’s work deservedly occupies a unique place in the history of
1. inter-civilizational communication
2. ethnocentricism
3.  history-writing

4.  historical causation

Options:

64535096403, 1
64535036404, 2
E4E35096405. 2
64535096406, 4

Question Number : 67 Question Id : 64635024562 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096403, 1
64535036404, 2
64835096405 2
4535096406, 4

Question Number : 68 Question Id : 64635024563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

As per Romila Thapar’s categonsation of Indian literary sources, which of the
following falls within the category of “‘embedded history’?

1. Myth
2 Chromcle
3. Epc

4. Geneology
Options:
64635096407, 1
64635096408, 2
64635096409, 3
64635096410, 4

Question Number : 68 Question Id : 64635024563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35096407. 1
E4E35036408. 2
E4535096409. 3
B4535096410. 4

Question Number : 69 Question Id : 64635024564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is NOT a canonical Buddhist text?
1.  Sufta Pitaka
2. Milinda Panha
3. Jatakas

4.  Abhidhamma Pitaka

Options:

64535096411, 1
64535036412, 2
4835096412 =2
4535096414 4

Question Number : 69 Question Id : 64635024564 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096411, 1
64535036412, 2
4835096412 =2
4535096414 4

Question Number : 70 Question Id : 64635024565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Burton Stein’s thesis of “Segmentary State” has been contested because

i there 1s too much stress on mere caste classification
2. 1t emphasises decentralized political structures

3. it does not attrbute the emergence of this state to a primitive peasant
society

4. Stein fails to recognize that in South India there were only two Varnas—
Brahmans and Shudras

Options:

64535096415 1
64535026416, 2
64535096417, o
64535036415, 4

Question Number : 70 Question Id : 64635024565 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
cAdE2E09e5415 1
CAEZEQEEA1E. 2
CACZE09E5417. 2
CAEZE095418. 4

Question Number : 71 Question Id : 64635024566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT correct about the ancient Indian society?
1. It was patriarchal and patrilinear

2. At a very early times fathers seem to have had absolute rights over their
children

3. Religion was 1n flux

4. There was no scope for alternative traditions

Options:

64535096419, 1
64535036420, 2
E4E35096421. 2
64535096422, 4

Question Number : 71 Question Id : 64635024566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835096419, 1
4535095420, 2
64535026421, 5
4535096422, 4

Question Number : 72 Question Id : 64635024567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following challenged Shankaracharya’s reading of Vedanta?
1. Ramamyja

2 Kumarnla
3. Lakshmidhara

4. Vachaspati Mishra
Options:
64635096423, 1
64635096424, 2
64635096425, 3
64635096426, 4

Question Number : 72 Question Id : 64635024567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096423, 1
64535036424, 2
64535036425 =
E4E350396426. 4

Question Number : 73 Question Id : 64635024568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s correct?
(a) One salient exception to the visual art of the Maurya period 1s Didargan) Yakshi

(b) In the visual art of Mawrya period absence of a human figure, especially that of a
ruler, 1s conspicious

(¢) The Achaeminid pillars were not monolithic
(dy The Mauryan pillars were fluted, whereas the Achaeminid columns were plain
Select the correct answer from the code given below :

1. (&), (b), (c) and (d)

2. (b),(c)and(d) only

3.  (c¢)and (d)only

4. (a), (b)and (c) only

Options:

4535096427,
64535096428,
64535096429,
4835096430,

[ N

Question Number : 73 Question Id : 64635024568 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. Fad(b), (c) M (d)
3. Fad(c) AR (d)
4, %A (a), (b) M (c)

Options:
4535096427,

EAE35096425.
BAE35096425,
B4535096430.

e LI M

Question Number : 74 Question Id : 64635024569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s NOT true about early Vedic Period?
1.  There was little restriction on the choice of spouse
2. InRig Veda there 1s mention of heroic women participating in wars
3. There1s no doubt that son was preferred to that of a daughter

4. The Rig Veda strongly favours the lowering of the age of marriage of girls
Options:
64635096431, 1
64635096432, 2
64635096433, 3
64635096434, 4

Question Number : 74 Question Id : 64635024569 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835096421, 1
4535095422 2
64535026422, o
64535026424, 4

Question Number : 75 Question Id : 64635024570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following coined the term ‘clan monarchies’?

1. U.N. Ghoshal
2. D. D. Kosambi
3 R. S. Sharma

4. B.N.S. Yadav
Options:
645350364351
64535096436, 2
E4AE350968427. 2
64535096438, 4

Question Number : 75 Question Id : 64635024570 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4525096435 1



EAE35036436. 2
BAE35036437. 3
64535096438, 4

Question Number : 76 Question Id : 64635024571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following aspects are reflected in the debates related to Harappan
Civilization?
(a) Potential of archaeology as a window into the ancient past
(b) Important role of interpretation in archaeology
(¢) The debates are not unoften informed by 1deology
(d) archaeology is not capable of generating many meanings simul taneously
Select the correct answer from the code given below :
1. (a), (b)and(d) only
2. {a)and (b) only
3. (b),{c)and(d) only

4. (a), (b) and (c) only
Options:
64635096439, 1
64635096440, 2
64635096441, 3
64635096442, 4

Question Number : 76 Question Id : 64635024571 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1.  gd(a), (b) 3R (d)
2. &ad (a) 3R (b)
3. @ad (b), (¢) 3R (d)
4. Fad(a), (b) 3R (c)
Options:
64535096439, 1
64535096440, 2

E4E35096441. 3
EAE35096442. 4

Question Number : 77 Question Id : 64635024572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct about Hastinapur?

(a) Itis one of the early urban centres in the Ganga-Yamuna Doab.
(b) It was not the political centre of any mahajanapada.

(¢) It promunently figures in Mahabharata.

(d) Excavations revealed that the city experienced flooding.

Select the correct answer from the code given below

b

(a), (b) and (c) only

2. (a), (c)and (d) only

)

(a) and (b) only

4. (a), (b), () and (d)

Options:

64535096443, 1
64535036444 2
64535036445 =
E4E35096446, 4

Question Number : 77 Question Id : 64635024572 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. &ad (a), (b) 3R (c)
2. &ad (a), (0) 3R (d)
3.  &gd(a) 3R (b)
4. (a), (b), (c) MR (d)

Options:

64535096443,
4835096444,
E4E35098445,
4535096446,

o IR

Question Number : 78 Question Id : 64635024573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The earliest surviving biography in India is
1. Tirukkural
2. Pancharatna
3.  Harshacharita

4.  Raghuvansha

Options:

64535096447,
4835096445,
45350965449,
4535096450,

o IR

Question Number : 78 Question Id : 64635024573 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096447, 1
64535036448, 2
64535036449 =
E4E35096450. 4

Question Number : 79 Question Id : 64635024574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“I dived deep in the ocean of astronomical theories, true and false, and rescued the
precious sunken jewel of true knowledge by means of the boat of my intellect.” Whose
quote 1s this?

1.  Aryabhatta
2. Varahamihira
3.  Brahmagupta

4. Mahavira

Options:

64535096451, 1
64535036452, 2
648350396452 =2
4535095454 4

Question Number : 79 Question Id : 64635024574 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835096451, 1
45350965452 2
64535026452, o
64535096454, 4

Sub-Section Number: 2
Sub-Section I d: 6463501211
Question Shuffling Allowed : Yes

Question Id : 64635024575 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (80 to 84)
Cesticn Label | Comprehiension

According to Hiuen Tsang, Nalanda was supported by the revenues of an enormous estate of
one hundred villages, and by the alms of many patrons including the great Harsha himself; it
provided free traiming for no less than 10000 students, who had a large staff of servants to
wait on them. The remains of Nalanda, however, belie Hiuen Tsang. The monastery consisted
of a very large complex of buildings, but it could hardly have accommodated a thousand
monks in anything like the comfort described by the Chinese traveller.

Sub questions

Question Number : 80 Question Id : 64635024576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is NOT correct about Buddhist monasteries?
1.  They were supported by the donations of the State and alms

2. Among the donations of the State, revenue of free-land grands figured
prominently

3. Ideally the teacher asked for no fee from the students

4.  The State did not alienate a part of its revenues to the monasteries



Options:

64535096455, 1
48350396456, 2
4535096457 2
64535026458, 4

Question Number : 81 Question Id : 64635024577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following i1s NOT correct?

1. The State and religion were mutually exclusive
2. The burden of religious institutions was ultimately born by the peasantry

3.  The upper classes (at least some) shared a part of their resources for the
cause of rehgion

4. Nalanda continued to remain the famous teaching centre for centuries
together

Options:

64535096459, 1
E4E350964E0. 2
64535096461, 5
64535096462, 4

Question Number : 82 Question Id : 64635024578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is NOT established in this passage?
1.  The Buddhist education system centred on the monastery

2. It is quite clear that the student population was confined to the Buddhist
order

3.  Hiuen Tsang is one of the most important sources on Nalanda

4. Nalanda was comparable to the Umversity cities of Medieval Europe

Options:

64535096463, 1
64535096464, 2
64535036465 =
64535036466, 4

Question Number : 83 Question Id : 64635024579 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is NOT true?
1.  The contemporary sources should not be trusted at their face value
2. Hiuen Tsang’s personal ideology seems to have tempted him to exaggerate

3.  Contemporary evidence 1s final in history as 1s the case with Hiuen Tsang’s
evidence here

4. Present can also help us to cross check the contemporary evidence
Options:
64635096467
64635096463,
64635096469
64635096470

[ N

Question Number : 84 Question Id : 64635024580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The income generated by the monasteries was not spent on which one of the following?

1.  Staff recruited for the monasteries

2.  Construction of buildings

3. Food and clothing of the students

4.  Teaching and the technical skills of the time

Options:
645350396471, 1

EAE35096472. 2
E4E35096473. 3
BAE350964 74, 4

Question Id : 64635024575 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (80 to 84)
Juestion Label - Comprehension
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Sub questions

Question Number : 80 Question Id : 64635024576 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Ig "ol & IR H Fefafed § 9 a1 98 78 87
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Options:

64535096455, 1
64535036456, 2
64535036457, 2
4535096458, 4

Question Number : 81 Question Id : 64635024577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096459, 1
64535036460, 2
64535036461, =
E4E350964E82. 4

Question Number : 82 Question Id : 64635024578 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096463, 1
64535036464, 2
64535036465 2
E4E35096466. 4

Question Number : 83 Question Id : 64635024579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535096467,
4535096468,
64535096469,
64535096470,

L N

Question Number : 84 Question Id : 64635024580 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096471, 1
64535036472, 2
64535036473 2
E4E35096474. 4

Sub-Section Number: 3
Sub-Section 1d: 6463501212
Question Shuffling Allowed : Yes

Question Number : 85 Question Id : 64635024581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Prithviraj Raso, which 1s about Prithvira) Chauhan and his wars with Mohammad
Ghori is attributed to which among the following persons?

1. Kalhan
2. Amarsimha
3. Narayan
4. Chandbardai

Options:

64835096475, 1
E4E35096476. 2
64535026477, o
64535096478, 4

Question Number : 85 Question Id : 64635024581 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096475, 1
64535036476, 2
64535036477, 2
48350396478 4

Question Number : 86 Question Id : 64635024582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Minhaj writes, “The Sultan had a passion for purchasing Turkish slaves and he did
purchase a lot of them. ... He (the Sultan) had purchased Yalduz while he was young,

had assigned him duties from the beginning and raised him to the position of the head
of the Turkish slaves.” Identify this Sultan :

1. Qutubuddin Aibak

2. Muzuddin Ghor

3. Iltutmish

4.  Balban
Options:
64535096479 1
64535096450, 2
64535096481, 3
64535036452, 4

Question Number : 86 Question Id : 64635024582 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535096479 1
E4E350968420. 2
64535096481, 3
64535036452, 4

Question Number : 87 Question Id : 64635024583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Shams-I Siraj Afif gives credit to which of the following Sultans for erecting all his
buildings by using Rekhta which means mortar or plaster?

1. Iltutmish

2. Balban

3.  Mubarak Khilji
4. Firuz Tughlaq

Options:

64535096483, 1
E4E35096434. 2
645350964585, 5
645350964586, 4

Question Number : 87 Question Id : 64635024583 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. Sogdia

2. ¥ dsT
3. YIRe fQae
4. TS e

Options:

645350964583, 1
64535036434, 2
E4E35096485. 2
64535096456, 4

Question Number : 88 Question Id : 64635024584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements 1s NOT correct?
1.  Iltutmish’s tomb is a virtual storehouse of Quranic Verses.

2. Ghiyasuddin Tughlaq’s tomb is a private vision of paradise. Its setting in a
pool of water evokes numerous references in the Quran to the abundant
water in the paradise.

3. Firuz Tughlag’s tomb 1s austere, appropriate for its location in the midst of
an Islamic theological college.

4. The hope of paradise 1s a principal theme of the verses on the domes of the
Tughlaq period tombs. This theme was rejected in the iconography of
Mughal architecture.

Options:

64535096487, 1
64535036488, 2
64535036439, 2
E4E35096430. 4

Question Number : 88 Question Id : 64635024584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096487, 1
64535036488, 2
64535036439, 2
E4E35096430. 4

Question Number : 89 Question Id : 64635024585 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The first reference to the spinning wheel and its first known Indian pictorial depiction is
found in which of the following sources of the 14" and 15" centuries?

1. Baram’s Tarikh-i Firuz Shahi and Fakhruddin Qawwas® Farhang-e

Qawwas
2. Isami’s Futuh-us-Salatin and Muhammad Shadiabadi’s Miftah-ul-Fuzala
3. Baram’s Fatwa-i Jahandari and Abdur Rashid Tattavi’s Farhang-i Rashidi

4. Amir Khusro’s Dewal Rani Khizr Khani and Muhammad Khan’s
Mirat-i Ahmadi
Options:
54635096491
64635096492,
64635096493,
64635096494,

o LIPS

Question Number : 89 Question Id : 64635024585 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096491, 1
64535036492, 2
64535036493 =
4835096494 4

Question Number : 90 Question Id : 64635024586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the South Vaishnavism developed a distinct devotional cult led by the Alvars. These
had successors in Acharyas. Who was the first Acharya?

L Kumarila

2. Vachaspah Mishra
3. Vinaneshvara

4. Nathamuni
Options:
64535036435, 1
64535036436, 2
64535096497, 2
E4AE35096495. 4

Question Number : 90 Question Id : 64635024586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. pHid
2. drsfa Ay
3. faomeR

4, TrREH

Options:

64535096495, 1
E4E350396496. 2
4535096497 2
64535096498, 4

Question Number : 91 Question Id : 64635024587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following travellers, who visited the Vijayanagar Empire, was not from
Portugal?

1. Numz
7.3 Nicolo de cont
3. Domingo Paes

4. Duarte Barbosa
Options:
64635096499, 1
64635096500, 2
64635096501, 3
64635096502, 4

Question Number : 91 Question Id : 64635024587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350964939, 1
E4E350396500. 2
4535096501, 2
64535036502, 4

Question Number : 92 Question Id : 64635024588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following rulers of Vijayanagar Empire in chronological order
(a) DevaRayal

(b) Harthara II

(¢) DevaRavall

(d) Bukkal

Select the correct answer from the code given below :

L. (d), (D), (@), ()
2. (a), (0, @), ®
3. (b),(@). (), (@
4. (b),(d), (@), (c)

Options:

4835096503, 1
64535036504, 2
64535096505, o
64535036506, 4



Question Number : 92 Question Id : 64635024588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) BReR

(¢) <avafEdm
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1. (d), ), @, ()

2. (a)(c), (d), (®)
3. (b), @), @
4. (b),(d), (a), (¢

Options:

4535096503, 1
64535026504, 2
64535036505, =
64535036506, 4

Question Number : 93 Question Id : 64635024589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Muhammad Shadiabadi’s Miftah-ul-Fuzala, compiled in the 15% century, is an
important Persian dictionary with illustrations. It throws light on everyday life,
instruments, ete. It also gives equvalent Hindwi words.

Which regional state 1s associated with?
1.  Jaunpur
2. Malwa
3. Vijayanagar
4. Awadh

Options:
64535096507, 1



EAE35036508. 2
64535096505, 3
64535096510, 4

Question Number : 93 Question Id : 64635024589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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mmgnmww,mmmmmwau 30 gHGY fe<dl
g Hi feg Mo gl
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1. SR
2. HIEaE
3. TR
4 Sy
Options:

645350396507, 1
64535096508, 2
E4E350396508. 3
EAE35096510. 4

Question Number : 94 Question Id : 64635024590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Thas royal lady was an avid collector of books, and one portrait even shows her holding
a stamp used to mark manuscripts that entered her collection. A copy of illuminated
royal Ramayan, produced in 1594, was owned by her.

Identify this roval lady :
1. Hamuda Bano Begum
2. Gulbadan Begum
3.  Jahanara

4. Zinat-un Nisa Begum

Options:

64535096511, 1
64535036512, 2
648350965132 =2



EAE35096514. 4

Question Number : 94 Question Id : 64635024590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. gHe = ™
2. T@9eT STH
3. SRR

4, Si=gEET T
Options:

E4E35096511. 1
64535096512, 2
64535096513, 3
645350396514, 4

Question Number : 95 Question Id : 64635024591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Banarsi Das in Ardh Kathanak writes, “The alarming news of his (emperor’s) death
spread fast and soon reached Jaunpur... People felt suddenly orphaned and insecure
without their sire. Terror raged everywhere... The commotion subsided after ten days,
when a letter arnved from Agra bringing news that all was well in the capital. The
situation returned to normal.”

Identify this emperor Banarsi Das was referring to :

1. Humayun

2. Akbar

3. Jahangir

4. Aurangzeb
Options:

64535096515, 1
645350396516, 2



EAE35036517. 3
E45350965158. 4

Question Number : 95 Question Id : 64635024591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535096515,
64535096516,
645350968517,
4835096518,

[ N

Question Number : 96 Question Id : 64635024592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

About a Hindi writer by the name Zul Qarnan, he (the Emperor) commented, “He was
an accomplished composer of Hindi songs. His method in this art was correct and his
compositions were frequently brought to my notice and approved.”

Who was this Mughal emperor?
1. Babur
2. Akbar
3.  Jahangir
4. Shahjahan
Options:

64535096519, 1
645350396520, 2



EAE350396521. 3
BAE35096522. 4

Question Number : 96 Question Id : 64635024592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1.
2. PR
3. SRR
4.  TESEl

Options:

64535096519, 1
64535036520 2
64535036521, =
4835096522 4

Question Number : 97 Question Id : 64635024593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Dara Shukoh had immense interest in religious matters. He was an admirer of Miyan
Mir and Mullao Shah Badakhshi.

To which sufi Silsila did Miyan Mir belong to?

1. Qadin

2. Suhrawardi
3. Chisht

4. Nugtavi

Options:

64635096523, 1
E4E350396524. 2
64535036525, 5
4535036526, 4



Question Number : 97 Question Id : 64635024593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. @Igd

2. gEuadt
3. fo=dt

4.  IPadl

Options:

4535096523, 1
64535096524, 2
64535036525 2
64535036526, 4

Question Number : 98 Question Id : 64635024594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Shaikh Ahmad Sirhindi was associated with which of the following sufi Sélsilals?

1. Shattari

b3

Nagshbandi
3. Sulrawardi

4. Firdausi

Options:

64535096527, 1
64535036528, 2
64535036529 =
48350396520 4

Question Number : 98 Question Id : 64635024594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. IO
2.  AREC
3. geudql

4. frerh

Options:

64535096527, 1
64535036528, 2
64535036529, 2
E4E35039E6520. 4

Question Number : 99 Question Id : 64635024595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following Indian monuments contains the Char Bagh or four square
garden?

1.  Atala mosque, Jaunpur
2. Jama mosque, Cambay
3.  Sher Shah’s tomb, Sasaram

4. Humayun’s tomb, Delli

Options:

64535096531, 1
64535036532 2
E4E350965332. 2
64535036524, 4

Question Number : 99 Question Id : 64635024595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3.  INE HIHGS, IHERM
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Options:

64535096531, 1
64535036532, 2
6483503965322 2
4535098524 4

Question Number : 100 Question Id : 64635024596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under the revenue reform system, Shershah introduced Zabr (the system of
measurement) but on account of special circumstances there, which was the only region
to be excluded from measurement?

1.  Lahore
2. Bengal
3. Awadh
4. Multan

Options:

64535096535, 1
64535036536, 2
64535036537, 2
E4E35096538. 4

Question Number : 100 Question Id : 64635024596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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. ®eR

2. 9
3. gy
4. Y™

Options:

64535096535, 1
64535036536, 2
64535036537, 2
E4E35096538. 4

Question Number : 101 Question Id : 64635024597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who is known to have introduced the policy of inclusion and shared the Indian wealth
and power by assigning mansabs (military rank), offices and Jagirs to the Rajput chiefs
and the Shaikhzadas (Indian Muslims)?

1.  Muhammad Tughlaq
.3 [brahim Lodi
3. Shershah Suri

4. Jalaluddin Muhammad Akbar
Options:
64535096539, 1
64635096540, 2
64635096541, 3
64635096542, 4

Question Number : 101 Question Id : 64635024597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096539, 1
64535036540, 2
64535036541, =2
E4E35096542. 4

Question Number : 102 Question Id : 64635024598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following owned the copy of the Akbari Ramayan, which he directed
his atelier to copy and illuminate around the turn of the seventeenth century?

1. Abul Fazl
2.  Faiz
3. Abdur Rahim Khan-I Khanana

4. Mumim Khan

Options:

64535096543, 1
64535036544 2
648350396545 =2
4535096546, 4

Question Number : 102 Question Id : 64635024598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. ogd Bod
2. el

3. ofsgY WIH TWEEFI
4,  HEHEH
Options:

645350396543, 1
E4E35096544. 2
E4E350396545. 3
EAE3509654E. 4

Question Number : 103 Question Id : 64635024599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who was the Mughal official who performed the following duties?
(a) Through his night patrolling, the citizens should enjoy the repose of security
(b) He should keep a register of houses, and frequented roads.

(¢) He should appoint as a spy one among the obscure residents with whom the
others should have no acquaintance

(d) He should minutely observe the income and expenditure of the various classes of
men

Select the correct answer from the following :
1.  Faujdar

2 Karori

3. Kotwal

4 Quazi

Options:

4535096547,
64535096548,
64535096549,
48350968550,

[ N Y

Question Number : 103 Question 1d : 64635024599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4E3E098547.

EAEZ509654E.
EAE35096549,
BA535096550.
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Question Number : 104 Question 1d : 64635024600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bayazid, founder of Raushniya movement, believed in a pantheistic mysticism. It was
very popular among the Afghans. What was the title of his book composed in Pashtu
language?

1.  Khairid Bayan
2. Khairul Majalis
3. Munshat-i Namakin

4. Ghunyat-ul-Munya
Options:
64635096551, 1
64635096552, 2
64635096553, 3
64635096554, 4

Question Number : 104 Question Id : 64635024600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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1. BT TgT
2. BETHTT
3. HEIG-TTHDIT

4. TF-GT-FT

Options:

64535096551, 1
64535036552, 2
648350396552 =2
E4E3509E554 4

Question Number : 105 Question Id : 64635024601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following were the tutors of Prince Salim?
(a) Badaum

(b) Abdur Rahim Khan-i-Khana

(¢c) Faz

(d) Fateh ullah Shirazi

Select the correct answer from the code given below

1. (a), (b)and (d) only
2. (b)and (c) only
3. (c)and (d) only
4. (b),(c) and (d) only

Options:

4835096555, 1
4535096556, 2
4535036557, 5
64535096558, 4

Question Number : 105 Question Id : 64635024601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) SERE
(b) 3feg T WHEHI

(c) ol

(d) wag I RREH

4 feu U He § 9 I8 SR o1 99 it ;
1. ad(a), (b) MR (d)
2. &ad (b) 3R (c)
3. &ad(c) MR (d)

4. FA(b), () AR (d)

Options:

64535096555, 1
64535036556, 2
64535036557, 2
E4E35096558. 4

Question Number : 106 Question Id : 64635024602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List—I List-II
(Painters) (Specialized in)

(a) Daswant (1)  Painted rare amimals and birds

(b) Miskin (11)  Illustrated Persian translation of Mahabharata

(¢) Mansur (1) Excelled in preparing backgrounds, portrait
paintings

(d) Basawan (1v) Influenced by the sixteenth century Italian style
of painting

Choose the correct option from those given below :
1. (a)yu); (b)-i); ()-{v); (A1)
2. (a)-(); (B)-(v); (e)(1); (d)-(i1)
3. (a)y-); (b)—w); (¢)-(u); (d)-av)
4. (a)-(v); (b)-Q): (¢)-(u); (d)-(u1)

Options:
4535096559,

EAE35096560.
BAE35096561.
EAE3S09E56E,

[ N I

Question Number : 106 Question 1d : 64635024602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (@-(u); (B)-); (0)-v); (D)D)
2. (a)-(); (b)-v); (c)-1); (d)-(m)
3. (&) (b)~1); (e)~m); (d)-(v)
4. (@)-v); (0)-); (o)), (d)-(m)

Options:

64535096559, 1
64535036560, 2
48350396561, 2
4535096562, 4

Question Number : 107 Question Id : 64635024603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following Sufis 1s NOT from the Suhwrawardi Silsilah?
1. Shaikh Shihabuddin
2 Shaikh Bahauddin Zakariya
3. Shaikh Sadruddin Arif
4 Shaikh Hamiduddin Nagaun

Options:
4535096563 1

EAEZ5096564. 2
E4E35096565. 3
EAE35096566. 4



Question Number : 107 Question Id : 64635024603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

0 A B gl gEvrae] farde § gl 47

1. @ REEEs
2. @ EEISEH doar

3. REIESEH MRE
4. @ gigEH A

Options:

64535096563, 1
64535036564, 2
64835096565 2
4535096566, 4

Question Number : 108 Question Id : 64635024604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following Sikh Gurus offered support and help to Dara Shukoh in the
war of succession in 16577

1.  Guru Arjan

2 Guru Har Rai

3. Guru Tegh Bahadur
4 Guru Gobind Singh

Options:

64535096567, 1
64535036568, 2
64535036569, 2
E4E35096570. 4

Question Number : 108 Question Id : 64635024604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. WM
3. % a7 §EIgR
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Options:

64535096567, 1
64535036568, 2
64535036569, =
4835096570, 4

Question Number : 109 Question 1d : 64635024605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following pairs is NOT correctly matched?

Term Meaning
1. Koka ; Foster Brother
2. Anaga : Imperial wet nurse
3. Atalig : Chuef of the household
4.  Jirga ; An Afghan tribal council

Options:

4635096571, 1
64535036572 2
64535036573 2
64535036574, 4

Question Number : 109 Question Id : 64635024605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafafed 8 9 oF-91 gw 98t gafed T8 o7

NG| 3ref
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Options:
C4E2E096571 .1
cdeZE098572. 2
CAEZE09EEYE. 2
C4EZE09EET 4 4

Question Number : 110 Question Id : 64635024606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  French traveller Bernier observes that no handsome dwelling was
ever seen without terraces on which the family may sleep during
the mght.

Reason (R) . The “warm chmate’ even affected the details of housing in
medieval India.

In the context of the above two statements, which of the following is correct?

ks

Both (A) and (R) are true, and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
3. (A)istrue, but(R)1s false

4.  (A)is false, but (R) is true
Options:
64635096575,
64635096576,
64635096577,
64635096578,

o LIRS

Question Number : 110 Question Id : 64635024606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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1. (A) RE)IFITHAERIR), (A) D T AR §

2. (A)IRER)TFATHIRGR), (A) P FE e T8 8

3. (ATITRYR) T

4. (A)THITRYR) TE T

Options:

4535096575 1
64535036576, 2
4535036577, o
64535036575, 4

Question Number : 111 Question Id : 64635024607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List-1 List-I1
(Designation of Deccan (Nature of work)
Village Servants)
(a) Mahar (1)  Mosque keeper
(b) Tarala (1)  Hindu shrine keeper
(¢) Mulam (1) Village watchman
(d) Gurao (iv) Bearer of burdens and helper of
travellers

Choose the correct option from those given below :
L. (a)-(1); (b)-(i1); (c)—-(1); (d)—-(1v)
2. (a)-Q); (b)—); (c)an); (d)-(v)
3. (a)-(u); (b)-v); (c)-(); (d)—11)
4. (a)-v); (b)), (e)-(u); (d)—1ii)

Options:

64535096579, 1
64535036580, 2
4535096581, 2
645350365582, 4

Question Number : 111 Question Id : 64635024607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (a)-); (0)); ()-D); (D))
2. (a)-@); (b)-1); (0)u); (d)—v)
3. (@), (B)-v); (0-); (D)
4. (@-v); (b)), (e)(ii); (d)(i)

Options:
4235096579, 1

EAE35096580. 2
64535096581, 3
BAE35096582. 4

Question Number : 112 Question 1d : 64635024608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The most popular prescribed syllabus in the Madrasas was Dars-i Nizami. Who among
them framed the syllabus?

1. Nizam-ul Mulk
2. Abdul Qadir Badauni
3.  Abul Fazl

4. Mulla Nizamuddin of Firangi Mahal, Lucknow
Options:
64635096583, 1
64635096584, 2
64635096585, 3



EAE35096586. 4

Question Number : 112 Question Id : 64635024608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hev @1 gaitue areta Rulfta ureasn ot AaE? unl 350 3 fem g8 ureTsH R
T ur?

1. ey ges
2. gd B St
3. g0 Bod

4. it vEE, e & gean FomEs

Options:

4535096583, 1
64535096584, 2
64535036585, =
64535036586, 4

Sub-Section Number: 4
Sub-Section 1d: 6463501213
Question Shuffling Allowed : Yes

Question Id : 64635024609 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (113to 117)
Juestion Label @ Comprehension

Amir Khusro (in 1311 A.D.) writes that, “Everyone, who has a brain capable of thinking, will
realize that the status of the good administrator i1s higher than that of the conqueror...
Precedence has been given in this book to administrative over military affairs... The
forfunate star of the mass of the people arose on the day when it was revealed to the heart of
the Sultan that God had made him a ruler over them. The Sultan’s fostering care for the sons
of Adam is greater than that of the sun for the moon and the starts. ... From east to west and
north to south, he has several times remitted the K/iraj of the raiyat.”

“Next, in order to make cheap the livelihood of the mass of the people, he has lessened the
tax-burden of the artisans, who used to sell their commodities at a high price. He has
appointed an honest rais (controller) over them, so that he may talk to the glib-tongued
shopkeepers with the whip of justice and give the power of speech to those who had none.”

Sub questions

Question Number : 113 Question Id : 64635024610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following books of Amir Khusro gives precedence to admimstrative
over mulitary affairs?

1.  Khazain-ul-Futuh
2. Khair-ul-Majalis
3.  Qiran-us-Sadain

4.  Dewal Rani Khizr Khani
Options:
CAE2E09E587. 1
4525096588, 2
4525096589 2
64635096590, 4

Question Number : 114 Question Id : 64635024611 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is Khiraj?

1. House tax
2. Land revenue/tribute
3. Grazing tax

4.  Pilgrnimage tax
Options:
64635096591, 1
64635096592, 2
646835096593, 3
64635096594 4

Question Number : 115 Question 1d : 64635024612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Whose Khira) was remutted by the Sultan several times from east to west and from
north to south?

1.  Amirs

2. Ras

3.  Merchants
4.  Raiyyat

Options:

64535096595, 1
64535036596, 2
4835096597 2
4535096598, 4

Question Number : 116 Question Id : 64635024613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following officers was appointed over the artisans?

1.  Amir
2. Rais

3. Malik
4. Amil

Options:

64535096599, 1
64535036600, 2
4835096601, 2
64535036602, 4

Question Number : 117 Question Id : 64635024614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who among of the following Sultans considered about himself that he was chosen by
the God as ruler to take care for the sons of Adam?

1.  Qutubuddin Aibek
2. Balban
3. Alauddin Khalji

4. Muhammad Tughlag

Options:

64535096603, 1
E4E350396604, 2
4535096805, 2
4535036606, 4

Question Id : 64635024609 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (113to 117)
Cesticn Label | Comprehension
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Sub questions

Question Number : 113 Question 1d : 64635024610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. @WF-G-5ge

2. TedT HIIHg
3. [PUT-G&-T
4. Fag oA ET @+

Options:

4635096587, 1
64535036588, 2
64535036589, =
64535036590, 4

Question Number : 114 Question 1d : 64635024611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

f&eTT T 82
1. 3mEar &
2. H-IoRE/URSY
3. ERIE &R
4. drdamE e
Options

E4535096591. 1
64535096582, 2
645350396533, 3
64535096534, 4

Question Number : 115 Question Id : 64635024612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



eI = od 9§ ufdH 3R SR 9§ Sl % 8F® SR gt e &a far ure
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3. Al &
4. a

Options:

64535096595, 1
64535036596, 2
E4E35039E6597. 2
4535096598, 4

Question Number : 116 Question Id : 64635024613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Rreuerf R AR ¥ Bufefea 8 € oF-ar aifter e fear mn ar?

. 9MR

2. Y

3. Hfte

4. A
Options:

B4E350965599. 1
64535036600, 2
645350396601, 3
64535096602, 4

Question Number : 117 Question Id : 64635024614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. wAE
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Options:

4835096603, 1
4535096804, 2
64535036605, o
4535036606, 4

Sub-Section Number: 5
Sub-Section I d: 6463501214
Question Shuffling Allowed : Yes

Question Number : 118 Question Id : 64635024615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements regarding the contribution of Bhakti saints
under Maratha rule 1s NOT correct?

1. The teachings of the Bhakti saints challenged the myth that Brahmin caste
is the creation of God and other castes must serve the Brahmin.

2. The Bhakt saints did not raise the position of the Shudra class.

3.  The Bhakti saints voiced against self-mortification, meamngless fasts and
penances and endless pilgrimages.

4. The Bhakti saints did not teach and preach in Sansknt, the language of the
Shashtras, but this led to the rise of vernacular languages.
Options:
64635096607,
64635096608,
64635096609,
64635096610,

[ N

Question Number : 118 Question Id : 64635024615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BAE35096610.
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: 119 Question Id : 64635024616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R) :

Assertion (A) :  One of the main consequences of Western education 1n India was
the inculcation of free thinking and rationalism which aroused
skepticism against the age-old beliefs and practices.

Reason (R) The Serampore Baptist Missionaries operated outside the

traditional framework of colonial science. It did not have London
as 1ts centre, and sought to brng indigenous tradition into a
dialogue with European science.

In the context of the above two statements, which of the following is correct?

L.

78

3.

4.
Options:
E4835096611
E4EZ503EE12
EAE25036613
64535036614

Both (A) and (R) are true, and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A)1s true but (R) 1s false

(A)1s false but (R)1s true

.1
.2
.o
o4



Question Number : 119 Question Id : 64635024616 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i 3l pue few T B, RFH 9 ue iy (A) SIRgEUah (R) §
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Options:

64535096611, 1
64535036612, 2
64535036613 2
4835096614, 4

Question Number : 120 Question Id : 64635024617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Three of the following mussionaries belonged to one group. Identify the outsider :

| Dr. John Wilson
2. Wilham Ward
3.  Joshua Marshman

4. Dr. William Carey
Options:
646350968615, 1
64635096616, 2
64635096617, 3
64635096618, 4

Question Number : 120 Question 1d : 64635024617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:
4525096615, 1

E4EZ5036E1E. 2
EAE35096E1Y. 3
E4E35096618. 4

Question Number : 121 Question 1d : 64635024618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following does NOT constitute a feature of Indian renaissance?
1.  Belief inindividualism, humanism and universalism
2. The spint of inquiry
3. Submmssion to the religious and social authority
4.  Beliefinscience and scientific world view

Options:
435096619, 1

EAE3503E6E620. 2
EAE3503662]1. 3
EAEZIS09E6E22. 4

Question Number : 121 Question Id : 64635024618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e 7 8 oF-d yRda geiRe @t g fadvar T8t 82
1. SAfeadre, AFaaT SR fRAyaEre #
2. forgrn &t Hi
3. uiffe qur amioie TiieR & wid geuor

4. a5 ¥ qur a9 e =R A Ay



Options:

64535096619, 1
E4E3503E6820. 2
4535096821, 2
4535036622, 4

Question Number : 122 Question Id : 64635024619 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements regarding social reform movements is NOT
Correct :

1. Raja Rammohan Roy’s wrtings and activities do not sigmfy a break with
traditions inherited by his generation.

2. Phule’s writings and actions represent a form of “universal humanism’.

3. Patriotic leaders like Lala Lajpat Rai, Lala Hansraj and Swamu
Shraddhanand were products of Arya Samayj.

4. Bankim Chandra Chatterjee and Swam Vivekanand emphasized the secular
use of religion.
Options:
64635096623, 1
64535096624, 2
64635096625, 3
64635096626, 4

Question Number : 122 Question Id : 64635024619 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835096623, 1
E4E3509E6E24. 2
64535036625, 5
4535036626, 4



Question Number : 123 Question Id : 64635024620 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which landmark judgement regarding women’s 1ssues, in the 1ot century, Sir Joseph
Arnold said the following words?

“It 1s not the question of theology that has been before us. It is a question of morality.
The principle for which the defendant and his witnesses have been contending 1s simply
this—that what 1s morally wrong cannot be theologically right.”

1. The Maharaja Libel case, 1863
2. The Vijaylaksmi case, 1881
3.  The Rukhmabai case, 1886

4. The Phulmom case, 1889
Options:
64635096627, 1
64635096628, 2
64635096629, 3
64635096630, 4

Question Number : 123 Question 1d : 64635024620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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qHall”

1. IR d39d &9, 1863
2. fodedt 4, 1881

3. TEHERE %9, 1886
4,  GaHF 9, 1889

Options:

64535096627,
64535096628,
4835096629,
4535098630,

[ N

Question Number : 124 Question Id : 64635024621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following was NOT an ideal of the Arya Samaj?
1. Fatherhood of God and brotherhood of man
2. Equality between genders
3. Absolute faith in the authority of the priestly class

4. Love and charity towards all

Options:

4635096651, 1
64535036632, 2
64535036633, o
64535036634, 4

Question Number : 124 Question 1d : 64635024621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535096631, 1
64535036632, 2
64535036633 2
483503966324, 4

Question Number : 125 Question Id : 64635024622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following works was NOT authored by Mahatma Jyotiba Phule?
1.  Brahmanache Kasab
2. Vedokta Dharmaprakash
3.  Tritiva Rata

4.  Gulamgiri

Options:
4535096635, 1
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1 125 Question Id : 64635024622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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Options:
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EAE3509EE3E6.
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1 126 Question Id : 64635024623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match List=I with List=II :

(a)
(b)

(c)
(d)

List—I List—II
(Reformer) (Institution)
Pandita Ramabai (1)  Seva Sadan
D. K. Karve (1) Rajmahendri Social Reform
Association
G. K. Devdhar (1) Sharda Sadan

Vireshhingam Pantalu  (1v)  Anath Balika Ashram

Choose the correct option from those given below :

L

2.

(a)—(1it); (b)-(v); (e)-(); (d)—L)
()—(iv); (b)—(ii); ()—(1); (d)iii)
()—(1); (b)~(iv); (e)-(i); (d)iii)
(a)—(1ii); (b)~(D); ()~1v); (d)—L)



Options:

64535096639,
E4E235096640,
4535096641,
4535096642,

o IR

Question Number : 126 Question Id : 64635024623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 &1 G-I T FAferd Piforg :
eit-1 i1

(§UR®D) (TR
(a) UfSA AR @) HarEe
b) S HF Gi)  omReE S Rl s
(¢) oft & AR (iil) <IRS HG
(d) R vag (iv) 3FY SfereT SM3H
feu T famed | 9 9gt IR &1 997 S :

—_

(a)(u); (b)~(iv); (¢)-(1); (d)—~(iD)

2. (a)-(v); (b)-); (c)-(1); (d)—(m)

(a)-(1); (b)—(v); (¢)—(1); (d)—~(1m1)
4. (a)-u); (0)-@); ()-wv); (1)

Options:

64535096639, 1

E4E35096640. 2

E4EZ509664]1. 3
EAE35096642, 4

i

Question Number : 127 Question Id : 64635024624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Deoband Seminary was
1.  opposed to Congress nationalism
2. fnendly to Sayyid Ahmed Khan
3.  pro-Brntish in temper

4. anti-Bntish in temper
Options:
64535096642, 1
64535096644 2
64535036645, 3
64535036646, 4

Question Number : 127 Question 1d : 64635024624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Sasg AR o
. IUY % IEaG & iy H

2. H9% IEHe EF ¥ fiEaq
3. Ui gmdT A
4. USi fady H

Options:

64535096643, 1
64535036644, 2
48350396645 2
E4E35096646E. 4

Question Number : 128 Question Id : 64635024625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chronologically arrange the following social legislations :
(a) Regulation XVII that declared Sati illegal in Bengal
(b} Regulation III which declared infanticide to be a murder
(¢} Hindu Windows’ Remarriage Act, XV
(d) Act V which made slavery illegal in India
Select the correct answer from the code given below :
(b), (), (d), (©)
2. (c),(d),(a), (b)
3. (a),(d),(b),(©
4. (b),(c). (a), (@

=]

Options:

4635096647, 1
64535036648, 2
64535036649, =
64535036650, 4

Question Number : 128 Question 1d : 64635024625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fofeed e R o SamHHR saedd HIfoT ;
(a) fafgm XVII forad sma | 9ot wut a1 3y eifte famam mam ar
(b) Tafae= 111 foras R & g visd faar T
(¢) To=g fawar gaidarg, siafam Xv
(@) ffFTm v od YR # e 31 ey Tt fea
9 fou M e # 9 98 IR g
L (b)) (d), (e
2. (c)(d).(a), (b)
3. (a), (), (),
4. (b, (0@, @



Options:

64535096647, 1
4835036648, 2
4535096849 =2
64535036650, 4

Question Number : 129 Question Id : 64635024626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who wrote, Stree-Purush Tulana?

1 Pandita Ramabai
Z. Kashibai Kamtkar
3.  Tarabai Shinde

4. Anancibar Karve

Options:

64535096651, 1
64535036652, 2
48350968532 2
4535096854 4

Question Number : 129 Question Id : 64635024626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-y gorT [eae! i 87
1. dfgawEs
2. SHIRIEE SincH
3. drErs R
4. -GS B

Options:

64535096651, 1
64535036652, 2
48350968532 2
4535096854 4

Question Number : 130 Question Id : 64635024627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which social reformer was the first to write an analysis of untouchability, named
Bharatiya Ashprushyatecha Prashna?

1.  Mahatma Jyotirao Phule
2. Vitthal Ramji Shinde
3. Chhatrapati Shahu Maharaj

4, Dr. B. R. Ambedkar

Options:

64535096655, 1
64535036656, 2
64535036657, 2
4835096858, 4

Question Number : 130 Question Id : 64635024627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YRTT Sgaar 75 TS Te | [$9 O YRS = 999y rg=darl & fazawo faar
2?

. HEe SiowE $a
2. faga ool B

3. TAUM g HERS
4. B IR qESHR

Options:

64535096655, 1
4835096656, 2
E4E3509EEE5Y. 2
64535036658, 4

Question Number : 131 Question Id : 64635024628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following statements regarding Dr. B. R. Ambedkar 1s NOT correct?

1.  Dr. Ambedkar was not an abstract thinker, but was a leader spurred by the
injustices inflicted upon his people.

2. Human dignity 1s one of Dr. Ambedkar’s key words.

3.  Dr. Ambedkar put himself outside Brahmanical culture, but not however
outside Hindu society.

4. Dr. Ambedkar proclaimed, “Anmihilation of untouchability is my
birthright™.
Options:
64635096659, 1
64635096660, 2
64635096661, 3
64635096662, 4

Question Number : 131 Question Id : 64635024628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST a1 3. 3SR & Fay H Fufuied § 3 o19-91 o747 98 981 87

1. S rdsan ols gary fide = 4, tig a8 = afll | f5d T SR 4
I §iox =1 5 1

2. HFE UiE 31 SR @1 U VW I 2
3. ST ST 7 W B FEI0 Wi F SeR W@, Wy g 39 9 71
4. i srSHR A 99U B Ut “IRy=ad S HeH 3 STHRE SUSR g17

Options:

4635096659, 1
4535036660, 2
64535036661, =
64535036662, 4

Question Number : 132 Question 1d : 64635024629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following statements about *Shahr-Ashob’ 1s NOT correct?

L.

2

Options:

It is a nostalgic genre used by the poets in Urdu language.

The poems of the “lament for city’ construct 1857 as cultural trauma and
express collective grief.

Literal meaning being ‘the city’s misfortune’, it offers personal account and
reactions of various Mughal poets to the period of Mughal decline.

A great number of these poems were written about the decline of Agra city.

EAE350966ES. 1
E4E35096664. 2
E4E5350396665. 3
64535096666, 4

Question Number : 132 Question 1d : 64635024629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

- AT & FauH Fofiea d F o1F-91 5y= 981 T8l o7

L.

2.

Options:

E45350966E63.
EAEZS09EEE4,
EAE35096EES.
EAE3S09EEEE,

Question Number :

gg 3¢ HIST § Hiaal gRT IUTT 591 S a1 fRE Vo 2

‘TR B T, Jaef Hiaarg a¥ 1857 St geefi ST I HXA §U AP a®
TSHT, AU IS e e B!

fece 3¢ ¢ Waﬂgﬂﬁm ﬁﬁgqﬁﬁﬁamww%w%wa%ﬁmﬁ
e ST gIRT AT Jui= ol wiafpand =ed St 2|

3R Y8R & U= & IR H U 3o sidand fergt mat &1

[ N

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

133 Question Id : 64635024630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes



Which one of the following plays was NOT authored by Bharatendu Harishchandra?
1.  Satyva Harishchandra
2. Nildevi
3.  Andher Nagari
4.  Ashadh Ka Ek Din

Options:

4635096667, 1
4535036668, 2
64535036669, o
64535036670, 4

Question Number : 133 Question 1d : 64635024630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fafoied # 8§ oF-91 9ce URadwg ety = el forar 27

1. FTERE=
2. Fagdd
3. AR TR

4. O FTIF T

Options:

4835096667, 1
64535036668, 2
64535036669, o
64535036670, 4

Question Number : 134 Question Id : 64635024631 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following statements is NOT correct about Allama Igbal?

1. Allama Igbal was the first politician to articulate what would become
known as two-nation theory.

2. Igbal’s 1932 work, the Javed Nama is named after and is addressed to his
SO,

3. In Payam-i-Mashrig (The message of the East) Igbal bemoaned too much
matenalistic attitude of the West.

4. The Secrets of the Self, is Allama Igbal’s first poetical work in Urdu.

Options:

64535096671,
64535096672,
4835096673,
4535096674,

[ Y

Question Number : 134 Question Id : 64635024631 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SaTH 3P T & Suy H Pufafed & 3 -1 sy ad ad 8
1. e SHad Ted Ao 4 fre 31y R ot ara wet @

7 %Tﬁmﬁ'qﬁl%z ! Hia FEg T I7F @ M R TY IF FaI Sl
|

3. TP AUHl B 7F7E-T YR (Td $1 UMM) | Ui & Hiidear! @i w)
faemT & 2

4, T UHcH AP T Y g, A SETH SHEA Pt Ugall HIA-Pid ¢

Options:

64535096671, 1
E4E3S09EE72. 2
64535036672, 5
4535036674, 4

Question Number : 135 Question Id : 64635024632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following statements regarding Rabindranath Tagore 1s NOT correct?

1.  Rabindranath was not in agreement with Mahatma Gandhi about the Non-
cooperation Movement.

2. The Jalhanwalla Bagh Massacre brought out Tagore’s strongest protest.
3.  Tagore believed in the revifalizing power of western sciences.

4. Similar to Gandhiji, Tagore defended the Varnashrama Dharma.

Options:
E4E35096675. 1

EAEZS03EEYE. 2
EAEZS096EYY. 3
BAE35096E67E. 4

Question Number : 135 Question Id : 64635024632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ATy SR & IR A Fofafed B 9 $19-91 $3F 981 761 o7
1. Ty SrEEanT S A o aR H HeTe Wt ¥ 9gHd TR U
2. SferaHardr ST TR-HeR U 21 7 30 Jaiiie He 3y uwe far
3. 2R &t iy v & ofid e / =2 S99 o e e o1 amd B
4. iefelt @ o SR Ht quiym ud @1 gnds @va g1

Options:

64535096675, 1
64535036676, 2
E4E3S09E6E77. 2
64535036673, 4

Question Number : 136 Question Id : 64635024633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who said the following words?

“Before Asia 1s in a position to cooperate with the culture of Europe, she must base her
own structure on a synthesis of all the different cultures which she has.”

1.  Keshab Chandra Sen
2. Swamm Vivekanand
S. Radhakrishnan

e

4. Rabindranath Tagore

Options:

64535096679, 1
4835036820, 2
4535096681, 2
4535036682, 4

Question Number : 136 Question Id : 64635024633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e Weq feee @8 87

“gAT B ApId & WY Tga - o1 RUfd § gga- & gd k@ &1 ot gt e
TSP ot & TN & MR T 30+ GLa-T IR S ghft1”

1. SRETHIA
2. @ e
3. UH UURWH
4. T TR

Options:

4535096679, 1
64535036680, 2
64535036681, =
E4E350966E2. 4

Question Number : 137 Question 1d : 64635024634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who wrote the following words about Gandhiji?

“The difference in our standpoints and temperaments make the Mahatma’s field of
work one which my conscience cannot accept as its own. That is a regret that will abide
with me always.”

1. Jawaharlal Nehru

2. J. B. Knipalam

3.  Rabindranath Tagore
4. Vallabhbhai Patel

Options:
435096653 1

EAEZ5096684. 2
E4E35096685. 3
EAE350966586. 4

Question Number : 137 Question Id : 64635024634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
el & ey § FafafEd v fogm fora 82
“gH Sl & RS qu1 WHE H 3R & DR HEIHET & SR I B 3F:HI0 WK gl
P o | I U ULTTIY € off A% 91y 9§91 38m|”
. SR Age
o. . SuaE

Ty SR
FEAHHTE Ued

ol

Options:

64535096683, 1
4835036634, 2
4535096885 2
64535036686, 4

Question Number : 138 Question Id : 64635024635 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which Bengali poet, writer and musician 1s known as “national poet of Bangladesh’
and one who fought in the World War I?

1.  Farrukh Ahmad
2. Shamsur Rahman
3.  Shaikh Mujeebur Rehman

4. Qazi Nazrul Islam
Options:
64535036657, 1
64535096688, 2
64E35096689. 3
E4E350966390. 4

Question Number : 138 Question Id : 64635024635 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

STTel HINT & %9 oid, oee ayT Fiider, o= tum fdygs 8 ot um fern i, siares &1
TP AT S 87

1. ™Y 3gHg
2. THYIIEHH

3. I YOIER WHH
4. ol Toed SHAH

Options:

4535096687, 1
64535036688, 2
64535036639, 2
E4E35096530. 4

Question Number : 139 Question Id : 64635024636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I List—II
(Authors) (Works)
(a) Partha Chatterjee (1)  Lying on the Post-Colonial Indifference

(by Tapti Guha-Thakurta (11)  History at the Limits of World History

(c) Rukmni Bhaya Nair (1) Monuments, objects,  Histories
Institutions of Art in Colonial and Post-
Colonial India

(d) Ranjit Guha (1v) Texts of Power : Emerging Disciplines in
Colonial Bengal

Choose the correct option from those given below :
L. (a)-(v); (b)-(u); (c)}~(1); (d)—1)
2. (a)-(iid); (b)—(11); ()—iv); (D))
3. (@) (b-av); (¢)-(u); (d)—1)
4. (a)-(u), (b)-1); (e)-v); (d)—)

Options:

64535096691, 1
64535036692, 2
64535036693 2
48350396694, 4

Question Number : 139 Question Id : 64635024636 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) oy Tt (i) TR IE T URHd-ad 3heh ey

(b) TeftEregar () R e T faffcy o o e

(c) wfawoll  wET (i) Ay, ey, REN: sRecE afE o
AR

(d) oriia et (iv) wﬁﬁﬁwﬁ%ﬁﬁﬂﬁﬁ@ﬁﬂﬁ
feu 7T f[3eey | ¥ 9 IR &1 99 Sifor |

1 (a-(v); (b)-(u1); (0)-); ()1
2. (), ()-); (O-v); (1)
3. (a)-(u); (b)-(v); (c)-(u1); (d)—1)
4. (a-Gn), (0)-Q1); (0)—wv); (1)

Options:

4535096691, 1
64535036692, 2
64535036692, o
64535036694, 4

Question Number : 140 Question Id : 64635024637 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Non-Europeans in colomal India had to remain content with lower
jobs. Entrepreneurship was nof lacking but whoever dared to
venture forth, soon realized that the road to scientific and
technological development lay through politics.

Reason (R) . The State involvement made colonal science more utility-oriented.

In the context of the above two statements, which of the following 1s correct?

]

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both(A) and (R) are true, but (R) is not the correct explanation of (A)
3. (A)istrue, but (R)is false
4. (A)1s false, but (R) 1s true

Options:

64635096695, 1

£4635096696. 2

EAEZ5036639Y. 3
E4E350966398. 4

Question Number : 140 Question Id : 64635024637 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



EAE350966395,
EAE35096635E6,
BAE35096657.
E4535096638.

[ N N

Question Number : 141 Question 1d : 64635024638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List-I with List-II :

List-I List-II
(Authors) (Works)
(a) Homm K. Bhabha (1)  Music and the Raj

(b) Gayatri Spivok Chakraborty (1)  Secience and the Indian Tradition

(¢) Dawvid S. Gosling (i)  The Location of Culture
(d)y Tan Woodfield (av) In other World : Essays in
Cultural Politics

Choose the correct option from those given below :
1. (@-@; (b)iii); (¢)—1); (d—iv)
2. (a)HiD); (b)H1); (e)—iv); (d)Hiib)
3. (a)(v); (b)) (o)), (d)ii)
4. (@)-it); (B)-{v); (o)), (D)

Options:

64535096699, 1
64535036700, 2
64535036701, 2
4835096702, 4

Question Number : 141 Question Id : 64635024638 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 31 gEi-11 | gaferd Sifon ;
' g1
s o
() TIH &, HIWT (i) =fowovsgaT
(b) T faraie Twmadl (i) ETLUE§sleg7e/eaT

(c) 3SfIs g e (iil) § FHPIT P Peaw
(d) 33 IZBIS (V) 27 3T ace U9 37 Hoaged Tiaag
feu U Aoy H 9 9gl IS &1 99 Hiferu :

. (a)-(); (b)id); (¢)~(id); (d)—iv)
2. (a)-(i); (b)—1); (—v); (d)-(iii)
3. (a)-v); (b)(D); (c)-(); (d)—(iii)
4. (a)-(u); (b-Qv); (e)-); (D)D)

Options:

64535096699,
64535096700,
4835096701,
E4E35098702,

[ N

Question Number : 142 Question Id : 64635024639 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements is NOT correct about colonial science and
technology?

1.  Wood’s Despatch {1854) recommended the spread of science education in
India.

2. The Bombay University was the first to grant science degrees in 1880.

3.  Western medicine was projected as a humanitarian rationale for British rule
and, at the same time was systematically used for subordinating a rival
system of medicine.

4.  Veterinary education was important for two reasons : it was of vital
importance for an agro-based economy and also required for a continuous
supply of veterinary surgeons for army horses.

Options:
£4635096703. 1
64635096704, 2



E4E350396705. 3
BAE35036706. 4

Question Number : 142 Question Id : 64635024639 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635096703, 1
E4E350396704. 2
4535096705 2
4535096706, 4

Question Number : 143 Question Id : 64635024640 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Mistakes in biased historical writing are motivated and not
accidental.
Reason (R) . Objectivity in historical writing means absence of prejudice—‘a

tendency to pre-judge questions in advance of the evidence’.
In the context of the above two statements, which of the following 1s correct?
1. Both(A)and (R) are true, and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
3. (A)istrue but (R)1s false

4. (A)is false but (R)1s true

Options:



EAE35096707. 1
64535096708, 2
64535096705, 3
645350396710, 4

Question Number : 143 Question Id : 64635024640 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835096707, 1
E4E3509E708. 2
64535096709, 5
64535096710, 4

Question Number : 144 Question Id : 64635024641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following statements regarding objectivity and bias in historical
writing 1s NOT correct?

1. Historian must be sensitive to difference between the moral ideals of today
and those prevalent in the past.

2. Distortion in history writing has an element of willfulness and intellectual
neglect.

3. Innocent misconstruals or misapprehension also forms distortion in
historical writing.

4.  Historical inferences which occur accidentally through an over-sight cannot
be termed as bias.

Options:



EAE35096711.
BAE350967 12,
B4E535096713.
64535096714,
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Question Number : 144 Question 1d : 64635024641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535096711, 1
64535036712, 2
4835096712 2
4535096714, 4

Question Number : 145 Question Id : 64635024642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following statements regarding imperialist approach to the writing of
Indian history 1s NOT correct?

1. It first emerged in the official pronouncements of the viceroys Lords
Dufferin, Curzon and Minto.

2. It was first convincingly put forward by Valentine Chirol, the Rowlatt
Committee and Verney Lowat.

3.  The impenalist approach of history writing did not believe 1n the civilizing
mission of the British rule.

4. Its conservative version was more forcefully put forth by J. A. Gallaghar
and Anil Seal, and their students after 1968.
Options:
64635096715, 1
64635096716, 2
64635096717, 3
64635096718, 4



Question Number : 145 Question Id : 64635024642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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CAE32E095715 1
CA4EZE09ETF1E. 2
C4EZEQ9EF1Y. 2
C4E3E096718. 4

Question Number : 146 Question 1d : 64635024643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following statements regarding nationalist historiography of India is
NOT correct?

1.  The school of Nationalist historiography was represented by Lala Lajpat
Rai, A. C. Mazumdar, S. N. Bannerjee and more recently, by B. R. Nanda,
Bisheshwar Prasad and Amles Tripathi.

2. They show an awareness of the exploitative character of colonialism .
3.  They take full cognizance of the process of India becoming a nation.

4.  They were quite conscious of the inner contradictions of Indian society both
in terms of class and caste.
Options:
64635096719,
64635096720,
64635096721,
64635096722,
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Question Number : 146 Question Id : 64635024643 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4635096719, 1
64535096720, 2
64535036721, =
64535036722, 4

Question Number : 147 Question 1d : 64635024644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is NOT a literary source of Maratha history?
1.  Mahazar
2. Sabhasad Bakhar
3.  The Jedhe Shakawali

" Nana Phadanavisache Atmavrutt

Options:

435096723 1
4535026724, 2
64535096725, o
64535036726, 4

Question Number : 147 Question Id : 64635024644 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4635096723, 1
4535026724, 2
64535036725, 2
64535036726, 4

Question Number : 148 Question 1d : 64635024645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—[ with List-II

List-I List-II
(Historians) (Their Works)

(a) Dawvid Arnold (1)  British Crientalism and the Bengal
Renaissance

(b) Stanley Wolpert (1) Provincializing Europe

(¢} Dipesh Chakrabarty (111) Gandhi’s Passion

(dy David Kopf (1v) Science, Technology and Medicine in
Colonial India

Choose the correct option from those given below :
L. (a)-(v); (b)—(11); (c)—(i); (D)—1)
2. (a)y-(m); (b)), (¢)-Qv); (d)—1)
3. (@-v); (b)-Q); (o)-(u); (d)—-(1)
4. (a)y-(u); ()-av); (c)-@); (d)-i1)
casan098727. 1

EAE35096728. 2
BAE35096725. 3
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Question Number : 148 Question Id : 64635024645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L (a)-v); (b)—); (e)-(w); (d)—1)
2. (ay(u); (b)-(); (e)-Qv); ([d)-1)
3. (@), ()-(0); (e)(iid); (d)—(iD
4. (@) (D)-1v); (e)-(); (d)-(i)

Options:

64535096727, 1
64535036728, 2
64535036729, 2
48350967320 4

Question Number : 149 Question Id : 64635024646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) :  Colomal science can be defined as a dependent science where-in
the result-oriented research in applied science heavily supersedes
the curiosity-oniented research 1n pure science.

Reason (R) . Colomal science was inextricably woven into the whole fabric of
colonialism. Several colonial scientists felt uncomfortable yet they
had to serve the colonial state and serve the science.

In the context of the above two statements, which of the following 1s correct?
1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2.  Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
3. (A)istrue but (R)is false

4. (A)is false but (R) 1s true
Options:
64635096731, 1
64635096732, 2
64635096733, 3
64635096734, 4

Question Number : 149 Question 1d : 64635024646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535096731, 1
64535036732, 2
64535036733, 2
48350396734 4

Question Number : 150 Question Id : 64635024647 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who said the following words?

“Her (India’s) influence has always fallen upon the world like that of the gentle due,
unheard and scarcely marked, yet bringing into bloom the fairest flowers of the earth.”

—
.

Raja Rammohan Roy
2 Swami Ramknshna Paramhansa
3. Mrs. Annie Besant

4. Swami Vivekanand

Options:

64835096735, 1
E4E3509E73E. 2
64535036737, o
4535096738, 4
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